No.13
1 (1) L=75°, ZLy=80° (2) Lx=110°, ZLy=280°
(4) £Lx=105°, Zy=123° (5) £Lx=92°

\}

3 AN EaolEc 6, 3, 4, 720° tAE LaolEic

M7 (n—2)
4 (1) Lx=120° (2) Lx=145° (3) Lx=28°
5 (1) 360° (2) 120° (3) 11
6 (1) Lx=125° (2) Lx=90°
7 (1) Lx=180° (2) ZLx=180°
No.14

1 AABC=ARQP 3oz nZnEL »
ADEF=ANMO 2ffloile zofflo sz nZ N L w»
AGHI=ATUS 2floile Z oMo A% N2 N5 L
AJKL=EAWVX 1ol e 2 oiilin DAz Z nE L »

2 (1) wzd (2)wzd (3) wzhw (4) wzzwn

3 (1) AABC=ACDA 2ol #ooMmparFnFnEL v
(2) ANABC=AADE 1ol oMo Rz FNE L v

(3) AABC=ADCB 3ol ZzhZnFEL v,

4 (1) K& ALAABC=ADEF W /A=/D
(2)IHE ¢ m, m n WEm /4 n

(3) Lx=50°, ZLy=130°

(1) Lx=78 (2) Lx=42° (3) £Lx=102° (4) Lx=62° (5) Lx=31°

7, 4, 5, 900°

5 E»bliEic OB, OD, ZBOD, 2i#olle #olof, ABOD, AOBD, # DB

6 FEBAB AAOP & ABOP <, 7 EFEAf AABD & AACE T,
RED»S, AO=BO - - - @D RED»S, AB=AC: - - D
ZAOP= /BOP - + -+ (2 /B=/C+ + - @
Hod7eill7= 25, OP=0P - - - Mol fg7=00, LA=ZA- - -
O ~@»b6 2ol s % DD A O~@» b, 1 oA L % Ol D M7
rhEn%E Lo, AAOP=ABOP rhFhZELvwoc, AABD=AACE

£ ->7T, PA=PB L -T, AD=AE



No.15
1 (1) £x=65° (2) £Lx=52° (3) L=67°

2 (1) 72° (2) —E0=MAF

3 LEk»oliEIc AC, CM, AM, 3#loid, AACM

4  E»blEIC AC, CE, ZC, 2flodllt Zzolof, AACE, AE

5 AABC=ANOM #iAE 12o08ifinzhZnFELW»
ADEF=ALK] #hléfho 1HRAZNZTNEL W

6 (1) AFRR=AK AABD=AEBD
N EES e B 1oo8ifandENEFNEL W

(2) 31 AB, AC (3) 45°

7 b»olEic ZCEM, CM, ME, AECM, ZC

8 ZFBAK ABPM & ACQM T,

REH» S, /BPM=/COM=90° - - - @D
BM=CM NG
WIEA 722, LPMB=/ZQMC - -« - ®

DO ~Q@L Vv EA=ZMEORNIL 1 DDHANREFNENE L DT
ABPM=ACQM
X - T, BP=CQ
NO.16
1 (1) 2floxdnznZ P TalUAaE  (2) 4001055 Lwufiyg
(3) 4 2>DMHEL VML

2  E»blEIC BC, BF, ED, “FAT

3 (1) 208z 6DfETcHs, X  (2) 2200ABHLWEMBIF 0=
(3) ¥frwdEiroLEch s, X

4 HTAEE ErolEc x, x, O
O LIE EHBIAE x, O, O
R Erblgic O, x, O
1ET5E ErblEc O, O, O

miEctd s, O



5 (1) vk (2) AR (3) BB (4) EHE
6 (1) 72° (2) 6cm
7 (1) 10cm

8 LE»blEHIC BC, AM, 3f#loid, B, B

9 LE2blEIc CD, ZABE, ZAEB, #h4l 1>o#ify, LAEF, CF

10 a-b

NO.17
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5 (1)

B T T T O e S R T o

1| @ DA, 2)| 3|0 9@ 5|1 6)

2 |2 D@ 2)|@ 3@ H|2 5|2 6)

3 (B, DG, 2(@, 3|EG, |G 5|@G, 6)

4 |4, |G, D@, 3|4, |4, 5|4 6)

5. 1€5,: 1) (5, 2)| (5, 3)[ (5, 4)[(5, 5){(5, 6)

6 |6, 1|6, 2)|®6, 3){(6, 4)[®6, 56 6

(2) 36:bH (3) 4:3Y (4) 8;@Db (5)% (6)% (7)%

e (i ol ol @w?2
9 3 3 9



7 (1)l (2)l
9 6

NO.18

1 (1)
2 (1)
3 (1)
4 (1)
5 (1)
6 (1)
7 (1)
8 (1)

oy (2) L (3 1L
2 6

LoD (2) & (3) > (4)
10 10

C{|0° W w

1smEh (2) 2 (3) 2 ()
5 15

1
638 Y 2) —
i ( )3

65y (2) 3ib (3) 6D

689 (2) 6bh (3) 12@Y (4) 24:@Y

24y (2) L (3) <4>§

AW M=
A= D=

24my  (2) (3)



